H & 0l & AHS B Ml A

0258 20laF Letel S 6g oS
A EHE HEorED
. THESA 243t
CHol: THRISAL RO BAE X (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S8 6EIEL 41,338,191 39,969,483 1,368,708
= 14,795,765
[ 61,000
Il 5,779,374
< 9,051,640
Al 11,650,412
A2 SAH 2435t 33,860 33,860 0
AESAH B0 243t X3 33,860 33,860 0
AESAES K2 33,360 33,360 0
201 fet=23y| 2,700 2,700 0
01 AtR2te|HI 2,700 2,700 0
OXESAHE S X 2,700
206 M=l 5,000 5,000 0
01 MHZHI 5,000 5,000 0
oNnzsAEs NE 23 5,000
301 EtE NS 25,660 25,660
14 IIEt2 83 25,660 25,660
OXNAESA 252 3,600
OZ=Y 024 dL3AI B0 2324 800
OAZISTAE SAHES Z0A 2524 9,600
OO0t =L SAU SSSA S0
g2y 7,680
OXNASALNR IS BAA 24 980
OF e M2NESAHLT 2852 1,200
OAZ=AMZ NHSAHA &S24 600
ottsel IESAHL 2524 1,200
XS 2 500 500 0
201 er23 | 500 500
2 35234l 500 500
OISt 2 500
= - o4 =A S 7,576,847 7,581,997 A5,180
Jl 5,526,249
= 888,839
Al 1,161,759
JIEZHAE 7,576,847 7,581,997 A5,150
Il 5,526,249
= 888,839
Al 1,161,759
NS R0t deid A 659,800 659,800 0
= 197,940
Al 461,860
301 EtE NS 659,800 659,800 0
== 197,940




2A:
T ZH -
o e

=aak

Ofl &F2H

MEE
Ofl &k2h

Al

461,860

in

Al

659,800
659,800
197,940
461,860

659,800

in

Al

55,319
44,255
5,532
5,532

55,319

H

Al

55,319
44,255
5,532
5,532

55,319

H

Al

55,319
55,319
44,255
5,532
5,532

55,319

in

Al

6,852,728
5,481,994
685,367
685,367

6,852,728

H

Al

6,852,728
5,481,994
685,367
685,367

6,852,728

H

Al

6,852,728
6,852,728
5,481,994
685,367
685,367

6,852,728

9,000

14,150

25,150

9,000

14,150

25,150

9,000
9,000

14,150

A5, 150

CIRRSE e Tl

=

31,304,627
14,392,115
61,000
253,125
7,639,378
8,959,009

30,074,652

1,229,975

H

31,304,627
14,392,115

30,074,652

1,229,975




A HE HEoED
33: Ots=A &4
&t orEE=s X (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 61,000
Jl 253,125
= 7,639,378
Al 8,959,009
SFuAE el2dl X2 13,769,041 12,669,041 1,100,000
= 8,451,781
== 2,817,260
Al 2,500,000
301 EtE NS 13,769,041 12,669,041 1,100,000
= 8,451,781
== 2,817,260
Al 2,500,000
01 Al 2E AL S(SRDEXMHE) 13,769,041 12,669,041 1,100,000
O=EFuwAA o12d| X 13,769,041
= 8,451,781
=S 2,817,260
Al 2,500,000
SN HRMHL K (DAI2SEZHLH]) 3,535,741 3,535,741 0
= 2,121,445
= 707,148
Al 707,148
301 EetE NS 3,535,741 3,535,741 0
= 2,121,445
= 707,148
Al 707,148
01 Al EE A S (2 RDEXMR) 3,535,741 3,535,741 0
OESNAE MRS X (RAIR22EZH
&) 3,535,741
= 2,121,445
= 707,148
Al 707,148
SN MM NJ(ERHAZ WAL XIE) 5,606,465 5,606,465 0
= 3,363,879
= 1,121,293
Al 1,121,293
301 EtE N = 5,606,465 5,606,465 0
= 3,363,879
S 1,121,293
Al 1,121,293
01 A2 HSHS(RNEERTH) 5,606,465 5,606,465 0
OESWHY HRMH KB (SEHE WAL
&) 5,606,465
= 3,363,879




SA: T OIS
33: Ots=A &4
el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,121,293
Al 1,121,293
S HRME X (RAIBA 2F XIHI) 90,959 90,959 0
= 54,575
< 18,192
Al 18,192
301 EtE NS 90,959 90,959 0
= 54,575
== 18,192
Al 18,192
01 Al 2E A S(SRNEXMH) 90,959 90,959 0
SN MM NS (RAIEE JE
XI2Hl) 90,959
= 54,575
== 18,192
Al 18,192
ERKNAY HRMHE N (SELSUA SE2RE 157,862 157,862 0
= 94,718
s 31,572
Al 31,572
301 EtE NS 157,862 157,862 0
= 94,718
= 31,572
Al 31,572
01 Al EE A S(FRNEXA) 157,862 157,862 0
OESNAE MRME X (SELZFWA
Sg22+4) 157,862
= 94,718
= 31,572
Al 31,572
OElold X (LxHm-4l) 159,159 159,159 0
= 95,49%
= 31,832
Al 31,832
307 gl2to| & 169,159 189,159 0
= 95,495
= 31,832
Al 31,832
1 AMEISXAEEXS 159,159 159,159 0
O O0IE X (L 7H]) 159,159
= 95,495
< 31,832
Al 31,832




SA: T OIS
33: Ots=A &4
el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Of2I01E X2 (X&2Hl) 66,885 66,885 0
= 40,131
== 13,377
Al 13,377
307 212+01& 66,885 66,885 0
= 40,131
=S 13,377
Al 13,377
11 ARRIS XA E X 66,885 66,885 0
OO02l0lE XI&(Xret2dhl) 66,885
= 40,131
= 13,377
Al 13,377
Oglold X (soiEgeloiziold X&) 10,185 10,185 0
= 6.111
= 2,037
Al 2,037
307 gl2to| & 10,185 10,185 0
= 6.111
= 2,037
Al 2,037
11 AMEISXAIEEES 10,185 10,185 0
Ooelold X (soEgaoiaold) 10,185
= 6,111
< 2,037
Al 2,037
Ol2glold nELLXA 18,625 18,625 0
= 11,175
< 3,725
Al 3,725
301 EtE NS 18,625 18,625 0
= 11,175
== 3.725
Al 3,725
01 Al 2E A S(SREXME) 18,625 18,625 0
O0gold nALLXA 18,625
= 11,175
=S 3,725
Al 3,725
SSEOE0IE XA (HEA) 741,600 741,600 0
< 593,280
Al 148,320
307 lztol & 741,600 741,600 0




SA: T OIS
33: Ots=A &4
el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 593,280
Al 148,320
11 AMEISXAEEES 741,600 741,600 0
ossgoeod N3 741,600
= 593,280
Al 148,320
olglolE JIse2d 122,000 111,000 11,000
[ 61,000
= 30,500
Al 30,500
402 QI2FX+=01 & 122,000 111,000 11,000
= 61,000
< 30,500
Al 30,500
02 QI X2 AL EE(0IETHE) 122,000 111,000 11,000
Oolgloly JIsed 122,000
= 61,000
< 30,500
Al 30,500
ESWAF MM EH 1,889,216 1,889,216 0
= 566,765
Al 1,322,451
301 EtE N = 1,889,216 1,889,216 0
= 566,765
Al 1,322,451
02 A EEHS(FANE, XLTHE) 1,889,216 1,889,216 0
OEF WAL X IHAHI 1,889,216
s 566,765
Al 1,322,451
FHXS oglold 22l 11,256 11,256 0
& 3,377
Al 7,879
307 glztol & 11,256 11,256 0
= 3,377
Al 7,879
11 AMEISXAIEEXS 11,25 11,256 0
OF NS oi2l0ld 23| 11,256
= 3,377
Al 7,879
EFAE & - HEH X2 215,040 215,040 0
[ 43,008
Al 172,032
307 lztol & 215,040 215,040 0




SA: T OIS
M Ol==AX S
&t orEE=s X (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 43,008
Al 172,032
11 AR SXAMEER 215,040 215,040 0
OEsAd & - HHl XA 215,040
& 43,008
Al 172,032
oo 2020l 2&& elAdl XI& 24,132 24,132 0
T 7,239
Al 16,893
301 LB F 24,132 24,132 0
= 7,239
Al 16,893
2 A BEHHZ(HAAHS, NYHA) 24,132 24,132 0
OZOHOt MZ0EI0IE 283 elAd] X 24,132
T 7,239
Al 16,893
AEAEHINE L IIE/AE0IS K2 101,400 101,400 0
& 30,420
Al 70,980
301 LB F 101,400 101,400 0
T 30,420
Al 70,980
02 ASIBEEHS(FHLHS, NSME) 101,400 101,400 0
OAEAHIE Y JIERAEOtS KA 101,400
= 30,420
Al 70,980
2EAEHIME 2 JIELIEOlE 2RI =03 326,094 326,094 0
& 32,609
Al 293,485
301 LPENZ 326,094 326,094 0
& 32,609
Al 293,485
2 MBI 2EA>HS(HUHS, NSHA) 326,04 326,094 0
OJIE%IE 235H| 326,094
& 32,609
Al 293,485
HEO0ISE S| 84,000 84,000 0
= 58,800
& 8,400
Al 16,800
301 LetENZ 84,000 84,000 0
= 58,800
& 8,400




SA: T OIS
33: Ots=A &4
el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 16,800
01 Al EE A S (2 RDEEMA) 84,000 84,000 0
(OFSEV =ttt 84,000
= 58,800
= 8,400
Al 16,800
NASE MH S =NEges N 5,500 10,000 24,500
201 fet= 3| 1,500 5,000 A3,500
03 A= I 1,500 5,000 23,500
OXMASE M4 S =23nggs XA 1,500
301 22N = 4,000 5,000 A1,000
11 AALEEIXIE S 4,000 5,000 21,000
OMASE M4 S 2NEggs N 4,000
OrssSAXI# 1,705,050 1,705,080 0
Jl 253,125
< 692,550
Al 759,375
301 2eEN=S 1,705,050 1,705,080 0
Jl 253,125
=S 692,550
Al 759,375
01 Al EE A S(FRDEXM) 1,705,050 1,705,080 0
ogsts Otssa X 1,012,500
7l 253,125
Al 759,375
oshlE otssa X 692,550
= 692,550
oglold 200 N 479,247 479,247 0
== 112,100
Al 367,147
301 LEtE NS 479,247 479,247 0
= 112,100
Al 367,147
02 A EE AT S (FANE, XLTHE) 479,247 479,247 0
ongolE Es&<00 X 479,247
= 112,100
Al 367,147
2R 28 BT 7,000 7,000 0
307 212+01& 7,000 7,000
02 LB HANHE L 7,000 7,000
O=EFuWA €8 BT 7,000
S3SE0801d usatdiadl X 13,000 10,500 2,500




SA: T OIS
33: Ots=A &4
el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 3,900
Al 9,100
402 QIF X201 & 13,000 10,500 2,500
= 3,900
Al 9,100
02 QI A2 AL E R (0IHTHE) 13,000 10,500 2,500
OS=E0gl01d NSl X 13,000
= 3,900
Al 9,100
oi2lold S2tAl8l XI& 1,157,028 1,157,028 0
< 482,019
Al 675,009
307 212+01& 1,157,028 1,157,028 0
& 482,019
Al 675,009
11 AMEISXAEEES 1,157,028 1,157,028 0
OO0y Sl X3 1,157,028
= 482,019
Al 675,009
01201 OAlIEt 2| X1 321,420 321,420 0
s 96,426
Al 224,994
301 EtE NS 321,420 321,420 0
< 96,426
Al 224,994
02 MBI 2HEHSFHS(HAANS, KLHE) 321,420 321,420 0
OO el0lE OMIEH 2EH| X2 321,420
= 96,426
Al 224,994
HEXNHAIE WA o1AHl =0t A& 490,147 490,147 0
= 147,044
Al 343,103
301 EtE NS 490,147 490,147 0
== 147,044
Al 343,103
02 AR 2E A S(FIANS, XLETHE) 490,147 490,147 0
OEFXNHAIE WAE A4 It XA 490,147
< 147,044
Al 343,103
QIZh- Jtd Ol2lold Fote 2| X (8 dE 39,900 75,600 135,700
2 0IX&)
= 11,970
Al 27,930




A HE HEoED
33: Ots=A &4
el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 39,900 75,600 A35,700
= 11,970
Al 27,930
10 Al SXAAEEHE2EHI2x 39,900 75,600 A35,700
OLIZt- JtEOR0IE Fotet 2| X2 (F
£ oIMIEIE DIXIR) 39,900
=S 11,970
Al 27,930
U0y X (SAd 2elXd3) 156,675 0 156,675
= 94,006
= 31,335
Al 31,335
307 @I2t01 & 156,675 0 156,675
= 94,005
= 31,335
Al 31,336
11 AMEISXAIEEXS 156,675 0 156,675
OO0RI0IE X (SAY 2ALIXNEAS) 186,675
= 94,005
= 31,335
Al 31,335
o=k 58 2,334,333 2,181,278 163,085
= 403,650
= 523,423
Al 1,407,260
Ce4s0E 12 2,334,333 2,181,278 153,055
= 403,650
= 523,423
Al 1,407,260
oIt & 2etEs AE 10,000 10,000
301 EtE N = 10,000 10,000
11 #AIAHIXIZ S 3,600 3,600
OAHAE Jtud HHI] 3,600
14 0Bt 2as 6,400 6,400 0
O&HAE It 29 6,400
COIMIAIE BRI 17,000 22,000 25,000
307 glztol & 7,000 7,000 0
10 Al2IS XA E 22X 7,000 7,000 0
o3d=zd stlieg= 3,000
OZ=dg JIAtEEA 4,000
401 Al HIZ S 0HbI 10,000 15,000 /5,000
01 AlZ8| 10,000 15,000 25,000
OHOIE=SFE X LMIINE RXEF 10,000




A HE HEotED
Hm: Lol=x =X
ol :deory X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Lol B8R X 3,600 3,600 0
= 1,080
Al 2,520
301 EtE N = 3,600 3,600 0
= 1,080
Al 2,520
02 AR 2HHSFS(HAAS, XNLHE) 3,600 3,600 0
oo 2EXI| X 3,600
s 1,080
Al 2,520
d2d 2N 1,169,550 1,169,550 0
S 129,792
Al 1,039,758
307 elztol & 1,169,550 1,169,550 0
= 129,792
Al 1,039,758
1 AMEISXAEEXS 1,169,550 1,169,550 0
o=2gHt| 581,360
= 48,672
Al 532,688
O2tAMH| 95,330
& 16,548
Al 79,782
Od Lt 327,860
= 65,572
Al 262,288
O= A 165,000
Dss 329 2EXNE 18,828 18,828 0
[ 3,766
Al 15,062
307 elztol & 18,828 18,828 0
= 3,766
Al 15,062
11 AMEISXAIEEE 18,828 18,828 0
©=gH| 6,480
= 1,296
Al 5,184
OZtAH| 3,600
== 720
Al 2,880
Od | 8,748
= 1,750
Al 6,998
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